
2)  
 

Weight in grams (w) Frequency (f) Midpoint f x MP 

0 ≤ w < 1,000 1   
1,000 ≤ w < 2,000 4   

2,000 ≤ w < 3,000 8   

3,000 ≤ w < 4,000 6   

 
 
 
 
 
 
 
3)  
 

Minutes in a Car (m) Frequency (f) Midpoint f x MP 

0 ≤ m < 40 9   

40 ≤ m < 80 11   

80 ≤ m < 120 15   

120 ≤ m < 180 8   

180 ≤ m < 220 7   

220 ≤ m < 300 3   

 
 
 
 
 
 
 
4)  
 

Time spent Frequency (f) Midpoint f x MP 

0 ≤ t < 10 1   

10 ≤ t < 20 2   
20 ≤ t < 30 4   

30 ≤ t < 40 10   

40 ≤ t < 60 12   

60 ≤ t < 80 4   

 
 


